
Vektorgeometrie

Lösungen zu
Aufgaben zu Winkel zwischen Vektoren (1)
Winkel Berechnung

a)

a⃗∘b⃗=( √3
2
1
2

)∘(10)=√3
2

α=arccos( √3
2 )=30 °

b)

a⃗∘b⃗=(−1
2

√3
2

)∘(10)=−1
2

α=arccos(−12 )=120 °

c)
a⃗ ∘ b⃗=(0,750,66)∘(10)=0,75
α=arccos( 0,75 )≈41,4 °

d)
a⃗∘b⃗=1

4
⋅(√6+√2

√6−√2)∘(10)=√6+√2
4

α=arccos( √6+√2
4 )=15 °

Winkel identifizieren
a) α

b) α

c) β

d) β

a) α

b) β

Wie viele Vektoren gibt es
a)

b) v⃗=( a1−a2)
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Einheitskreis

b⃗
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α
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Vektorgeometrie

Vektoren Bestimmen

a) a⃗=( √2
2

±√2
2
)

b) a⃗≈( 0,95±0,31)

c) a⃗=(−√2
2

±√2
2
)

d) a⃗=(−√3
2

±1
2
)

e) a⃗≈( 0,64±0,77)
f) a⃗=(−10 )
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